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Auto Fit for: Data Set | Y 
y = Ax^2+Bx+C
A: -0.7000 +/- 1.575E-15
B: 15.50 +/- 3.469E-14
C: -70.80 +/- 1.885E-13
RMSE: 5.892E-15 

Auto Fit for: Data Set | Y 
y = Ax^2+Bx+C
A: 0.1672 +/- 0.005130
B: -0.9737 +/- 0.05260
C: 7.207 +/- 0.1146
RMSE: 0.09003 

X: 0
Y  Slope: -0.4
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Quadratics were fit through 
points, slopes of tangents 
found using tangent 
function.

at x=5, slope = 0.7

at x=10, slope = 1.2
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Linear Fit for: Data Set | distance
d = mt+b
m (Slope): 2.000 m/s
b (Y-Intercept): 0 m
Correlation: 1.000
RMSE: 0 m

Auto Fit for: Data Set | distance 
d = At^2+Bt+C
A: -0.2500 +/- 0.02236
B: 3.410 +/- 0.2468
C: -1.630 +/- 0.6581
RMSE: 0.04472 m

Linear Fit for: Data Set | distance
d = mt+b
m (Slope): 0 m/s
b (Y-Intercept): 10.00 m
Correlation: 0
RMSE: 0 m

time: 1 s
distance  Slope: 2.0 m/s
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from 4s to 6s, a quadratic 
curve was fit to the data.  
The velocity was 
estimated using the 
tangent function 
(instantaneous velocity = 
slope of tangent).
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Auto Fit for: Data Set | displacement 
Δx = 4t+((4/1.5)*(t^1.5))
RMSE: 0 m
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Auto Fit for: Data Set | velocity 
v = 4+(4*(t^0.5))
RMSE: 0.5447 m/s

Integral for: Data Set | velocity
Integral: 6.015 s*m/s

Integral for: Data Set | velocity
Integral: 8.807 s*m/s

Integral for: Data Set | velocity
Integral: 10.43 s*m/s

Integral for: Data Set | velocity
Integral: 11.58 s*m/s

Integral for: Data Set | velocity
Integral: 12.48 s*m/s
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Note that value for area under curve 
from 0s-1s is low.

6.015m + 8.807m = 14.822m

14.822m + 10.43m = 25.252m

25.252m + 11.58m = 36.832m

36.832m + 12.48m = 49.312m
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area of triangle from 0s-6s:

elapsed time = 6s - 0s = 6s

area = 1/2 b h = 1/2 (6s)(6m/s) = 18m

area of triangle from 6s-10s:

elapsed time = 10s - 6s = 4s

area = 1/2 (4s)(6m/s) = 12m

18m + 12m = 30m
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